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Conditions : température d'entrée d'air = 0°C

BCT 125

BCT 160

BCT 200

BCT 250

BCT 315

BCT 400

BCT 500

sur |"air

Pa

22
42

1
40

25
48

20

38

37

23

10

54

Temp. sortie d*

90/70

38,1
32,2
28,3
48,3
40,5
35,8
42
34,6
30,4
43,7
36,1
31,7
44,2
36,5
32
43,1
354
31
411
33id
29,5

air (°0)

regime d'eau

314
25,6
22,8
41,6
34,8
30,8
36,1
29,7
26
37,6
30,2
27.1
38,1
31,3
274
37,1
30,4
26,6
35,3
289
25,3

20,9
15,7
13
26,3
22,1
19,9
22,8
19.4
17,3
229
19,3
17,5
233
19,8
18,1
23,2
20
12,7
21,6
18,7
16,7

regime d'eau

1,2
1,8
39
2,5
3,7
4,6
34
4.9
6,1
5,7
8.2
10,3
8,9
13
16,3
14
20,3
25,5
20,8
29,9
37,3

1
1.4
1.8
2,2
3.2

4

3
42
5,2
4.9

7
8.8
7.7

11
14
12
175
21,9
17,9
25,6
32

0,6
0,9
1
1,4
2
2,6
1,9
2,7
3,5
3
4,4
5,7
4,7
7.1
9,2
7.5
11,5
14,6
10,9
16,6
21,1

Débit d'eau (m?/h)

regime d'eau

0,04
0,07
0,11
0,11
0,18
0,22
0,14
0,22
0,25
0,25
0,36
0,47
0,40
0,58
0,72
0,61
0,90
1,12
0,94
1,33
1,65

0,04
0,07
0,07
0,11
0,14
0,18
0,14
0,18
0,22
0,22
0,32
0,40
0,32
0,50
0,61
0,54
0,75
0,97
0,79
1,12
1,40

0,04
0,04
0,04
0,07
0,07
0,11
0,07
0,11
014
0,14
0,18
0,25
0,22
0,32
0,40
0,32
0,50
0,65
0,47
0,72
0,94

A P sur I'eau (KPa)

régime d'eau
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